LR
%

Hu: FMBUS YN B (SYHSSA/HSL - OfE)
ol M JIRHAIA BHE (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o= AHE M 31,477,603 23,025,546 8,452,057
= 3,277,000
Xl 19,265,000
< 8,935,603
A= 0PI S (sl Lt/ 28 - HE) 31,438,340 22,986,283 8,452,057
= 3,277,000
X 19,265,000
< 8,896,340
AL JIBHAIY &= 9,643,297 10,014,150 A 370,853
= 914,000
Xl 6,306,000
= 2,423,297
AN LA L EH (XXM (HAAHLEZH)(Z1D) 84,400 247,950 A 163,550
= 72,000
= 12,400
202 4l 7,000 7,000 0
01 SLHOIYI 7,000 7,000 0
OHIHHY A 7,000
403 Ut SHHSA=0l& 77,400 240,950 A 163,550
= 72,000
< 5,400
01 HXSHMA2E X 77,400 156,950 AT9,550
ocotoe = 77,400
= 72,000
< 5,400
A2 A2 = (RIAHA) (At 2 AENE AN (= 1) 84,000 0 84,000
= 42,000
< 42,000
403 MtXISHHE X201 & 84,000 0 84,000
= 42,000
< 42,000
02 S 2SS A2 X HE AL B 84,000 0 84,000
OAHSH Y AEHZA 84,000
= 42,000
< 42,000
HEHLAHFES (=) 902,857 1,422,000 A 519,143
= 800,000
= 102,857
403 A X EHHS =0l A 902,857 1,422,000 A 519,143
= 800,000
< 102,857
01 X HHMA=2LE L 902,857 1,422,000 A 519,143
HE2HE0 7 ESAY 902,857
= 800,000
< 102,857




S AUE B

A FMBYS 0UIIY HE(SYHYLL/HS LM - 01F)

Chel: M JIBHAIA B E (S &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Aol Mad SO 133,500 136,000 A 2,500

201 £B-2d| 2,500 0 2,500
01 At 22l 2,500 0 2,500
OXTOLLBINS(IIE) M= 2,500
202 o4dl 11,000 11,000 0
01 = LH o4 1l 11,000 11,000 0
O Moy SO 11,000
308 XX EHH SOl A 120,000 105,000 15,000
01 IXNHHBAMNEES 120,000 105,000 15,000
O=4tolo & g At X& 50,000
O2JtAtel =0iALY 60,000
O AYN =E=XII M XA 10,000
XNXH e (Ng)HgHd(=220) 1,015,000 625,000 390,000
Xl 812,000
< 203,000
401 AIEHIZ 28I 1,015,000 625,000 390,000
Xl 812,000
= 203,000
01 A& HI 1,008,606 621,000 387,606
oxgoaAs 1,008,606
Xl 806,885
< 201,721
03 A& =2 I 6,394 4,000 2,394
oxgoeds 6,394
Xl 5,115
< 1,279
ANXAMZ2e(XE)HEHSE (Mo F 2% XNLHE AEH 6,867,500 6,792,500 75,000
6)(22)
Xl 5,494,000
< 1,373,500
401 Al B2 2B 6,867,500 6,792,500 75,000
Xl 5,494,000
< 1,373,500
01 A& HI 6,850,331 6,775,500 74,831
OMdoHH XZEAHE AL EHI 6,850,331
Xl 5,480,265
< 1,370,066
03 Al =20 HI 17,169 17,000 169
OTHoH 52t XU Al ZH 17,169
Xl 13,735
< 3,434
ngog A2 272,040 373,300 A 101,260
401 Al HI L 2T 215,040 316,300 A 101,260




SN AUFBDY
A FMBYS 0UIIY HE(SYHYLL/HS LM - 01F)
Chel: MAF JIHHAIE &5 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 213,500 313,000 A 99,500
oxgog 222 213,500
03 Al S THHI 1,540 3,300 A 1,760
oxgus Ex=22 1,540
403 HXSHHSA=0l& 57,000 57,000 0
01 XM A=E X 57,000 57,000 0
OXY & HEF=AE At=2t2| 57,000
NLog SFIASHINESA (MESE JEXIA 44,000 67,400 A 23,400
401 Al HIZ 201 8] 44,000 0 44,000
01 A& HI 44,000 0 44,000
OXZoE SHALESEINAMFTSHZEIEIA) 44,000
HEFFOEHE 240,000 350,000 A 110,000
403 XIS E X201 E 240,000 350,000 A 110,000
01 X SHHAN2E = 240,000 350,000 A 110,000
OEAIISHE =4 200,000
ONHEE=E MY 30,000
ONEEHAMRSSAIE A 10,000
2=0g 84 10,230,543 7,456,593 2,773,950
= 2,363,000
Xl 4,788,000
< 3,079,543
OIZHEAI (2) 3,750,000 3,750,000 0
Xl 3,000,000
< 750,000
401 AIEHI L 2] 3,750,000 3,750,000 0
Xl 3,000,000
< 750,000
01 A& Hl 3,738,000 3,739,800 A 1,800
OeBAH=AH 3,738,000
Xl 2,990,400
< 747,600
03 AIE S THHI 12,000 10,200 1,800
OSUH=EAIZL 12,000
Xl 9,600
< 2,400
AIZHZAL(H=HEESEZ) (=) 433,750 250,000 183,750
Xl 347,000
= 86,750
403 XIS E X201 & 433,750 146,670 287,080
Xl 347,000
< 86,750
02 SO 2SO S22 X HE At H 433,750 146,670 287,080




2N
X ZH -
L= B

el

- - . =]
SA - HB . (FH) - NRAY - BAS %Eﬁ HDS2

OHx=&EEEL 433,750
Xl 347,000
= 86,750

20H=AY (HIO=X24)(2D) 588,000 588,000 0
Xl 560,000
& 28,000

403 ItXISH XS K201 588,000 588,000 0
Xl 560,000
& 28,000

01 AIXISHMA2E X 588,000 588,000 0
obtth==x4 588,000
N 560,000
T 28,000

EAZSQRAL (S IAL HMAASHE)(Z2ZD) 961,650 795,400 166,250
Xl 881,000
< 80,650

207 Ao Y| 10,000 10,000 0

01 A& 9| 10,000 10,000 0
O AtS I DA A 10,000

403 ItXIHXM S K201 951,650 785,400 166,250
Xl 881,000
& 70,650

01 AIXISHMA2E X 785,400 785,400 0
OxASRHYSR 785,400
Xl 748,000
< 37,400

02 I/ 2 S0l CHet At =& CH e AF B 166,250 0 166,250
OxNMBRAMYSUZF S WA 166,250
Xl 133,000
& 33,250

B YANY SHAMY(Z2D) 2,860,000 0 2,860,000
= 2,200,000
& 660,000

403 IR HHSA201 A 2,860,000 0 2,860,000
= 2,200,000
T 660,000

01 XX SHMA2E X ,860,000 0 2,860,000
OXESBEAAMNNHIETH 2,860,000
= 2,200,000
= 660,000

BHEHNUXNES(BIEEZ)(=20) 121,000 418,000 A 297,000
= 110,000
& 11,000

403 IR SHHM S K201 121,000 418,000 A 297,000
= 110,000




2N
X ZH -
L= B

el

SN HH-S(BN) - MBAY - B il HlnE2

< 11,000

01 XM A2E X 121,000 418,000 A 297,000
OUHUXNEZAILE(GIEEZ) 121,000
= 110,000
< 11,000

BEREEZ(=21) 68,143 0 68,143
= 53,000
= 15,143

403 XIS E X201 E 68,143 0 68,143
= 53,000
< 15,143

01 X SHHA2E= 68,143 0 68,143
Oz EIdRHEES 68,143
2 53,000
< 15,143

HOFHE MAHA 2el ,448,000 1,413,000 35,000

202 Odl 9,000 9,000 0

01 = LH YI 9,000 9,000 0
O&RAZTHALY =& 9,000

403 MtXISHH S0l & ,439,000 1,404,000 35,000

01 XM A=2EE ,439,000 1,404,000 35,000
ON=S HEF LEHRZ 350,000
O2HAMA AttE =4 350,000
O 2a& XA 223,000
Odlla; Mg Al 360,000
OdH==AlHITH &= 156,000

SEAME =4 2 =42 OHXMD ,564,500 5,515,540 6,048,960
Xl , 171,000
< ,393,500

FASMTIBAEHE(Z1D) ,879,800 1,769,300 110,500
Xl ,446,000
< 433,800

403 MtXISHHE X201 & ,879,800 1,769,300 110,500
X ,446,000
< 433,800

01 XM A=2EER ,879,800 1,769,300 110,500
O==&SEXINSAE 1,879,800
Xl ,446,000
< 433,800

ME REALHE(F 1) 750,000 2,695,000 A 1,945,000
Xl 600,000
< 150,000

403 MHXISHHE X201 H 750,000 2,695,000 A 1,945,000
Xl 600,000




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
< 150,000
01 XM A2E X 750,000 2,695,000 A 1,945,000
O ed==4t=SEE2 S22 H 390,000
Xl 300,000
= 90,000
O==&SHIMEAL 360,000
Xl 300,000
< 60,000
FASEHEHINZHE (=2 1) 7,962,500 0 7,962,500
X 6,125,000
S 1,837,500
403 X SHHSA=0l& 7,962,500 0 7,962,500
Xl 6,125,000
< 1,837,500
01 HXSHMA2E X 7,962,500 0 7,962,500
=oE HEHIZH 7,962,500
Xl 6,125,000
< 1,837,500
=2 IS . |FSIIEAIE & BH2O0HH 532,200 484,240 47,960
201 2yt 2 Y| 30,000 0 30,000
01 At 22l 30,000 0 30,000
O==&IIBAE 2L ME - 22 30,000
202 04 dl 9,000 9,000 0
01 = LH YI 9,000 9,000 0
Ox¢4tE I8 - RSIIEAIE & 2O 9,000
207 1R 2yl 19,000 0 19,000
01 289 19,000 0 19,000
ONSE Aol H= 2 A2 19,000
307 21201 A 83,500 90,000 A 6,500
02 LAFAAFEX 83,500 90,000 A 6,500
OHAAZE HEXA 83,500
308 A EHHSOIA 237,700 0 237,700
01 HIXNHMBHNEELS 237,700 0 237,700
O=&2 I LHISTEHA XA 25,700
Ox=4tAlE stugaEgs =JH X 9,000
O=x=dts =M =74l N 63,000
Ozx=d2 2ZZM XA 90,000
o=tz EE ZZM A& 50,000
403 X SHHS =0l & 153,000 385,240 AN 232,240
01 XM A2E X 153,000 385,240 A 232,240
OZHE2 M2MEAIL XN 63,000
O=x=4tE ABFAIE HH] 30,000




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET

OSsg dHEMHAEH s 20,000
Odoiet ASAHAXZAE K& 40,000

YA =212 Fbl 420,000 275,000 145,000

403 Mt S S X201 & 420,000 275,000 145,000

01 X SHHMA=2LE L 420,000 275,000 145,000
Odl=3= Al & 420,000

23 FEAY 245t 20,000 20,000 0

403 UHXSHHSA=0l& 20,000 0 20,000

01 X SHMA=E X 20,000 0 20,000
OZHAY 2SR SEHHg=sI N 20,000

HHE2HZH (A (JIEH/DIE) 39,263 39,263 0

JlE3l 39,263 39,263 0

2EM2g JI2Z 4l 39,263 39,263 0

201 L2l 18,233 18,233 0

01 At 2t 2l 18,233 18,233 0
ORN2Y AR 22l 18,233

202 oddl 16,830 16,830 0

01 SLHOIYI 16,830 16,830 0
ORMEE =U0HI 16,830

203 YR =&l 4,200 4,200 0

04 FENSEHR=LH| 4,200 4,200 0
©302! olat 350,000& »12& 4,200




